IB Math HL1 : Differential Equations Name:

Applications Problems: WS #3

1. A dilution Problem:
A tank contains 20 1b of salt dissolved in 50 gal of water. Suppose 3 gal of brine containing

2 1b of dissolved salt per gallon runs into the tank every minute and that the mixture (kept
uniform by stirring) runs out of the tank at the rate of 2 gal/min. Find the amount of salt in

the tank at any time t. How much salt is in the tank at the end of hour?

o The amount of salt in the tank at the end of t minutes: S(t)

o The rate of amount of salt flow in (Ib/min): (3
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Exit Question

When your group members finish the following problem, get a stamp from Mrs. Shim

A tank contains 10 1b of salt dissolved in 30 gal of water. Suppose 2 gal of brine containing 1 1b
of dissolved salt per gallon runs into the tank every minutes and that the mixture (kept uniform

by stirring) runs out of the tank at the rate of 1.5 gal/ min. How long does it take (to nearest
second) for the tank to contain 15 1b of salt? ']_"/ ss Zy
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